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Q.1:- Aman invested Rs. m for 8 months and Rs. n for remaining time while Farhan 

invested Rs. n for first 7 months and Rs. m for the rest of the time. If at the end of 

two years, the profit earned is equal, find the ratio m: n.
अमन ने 8 महीने के लिए m रुपये का लनवेश लकया और रु। शेष समय के लिए n जबलक फरहान ने पहिे 7 

महीन ों के लिए n रुपये और बाकी समय के लिए m रुपये का लनवेश लकया। यलि ि वषष के अोंत में, अलजषत

िाभ बराबर है, त अनुपात m: n ज्ञात कीलजए।

(A) 1:1 (B)3:5 (C)5:7 (D)11:9 (E)None of these



\
Q.2:- A, B, C started a business with their investments in the ratio 3:6:5. After 8 

months, A invested the same amount as before and both B and C withdrew half of 

their investments. The ratio of their profits at the end of the year is

A, B, C ने 3:6:5 के अनुपात में अपने लनवेश के साथ एक व्यवसाय शुरू लकया। 8 महीने के

बाि, A ने पहिे की तरह ही रालश का लनवेश लकया और B और C ि न ों ने अपने लनवेश का

आधा लहस्सा वापस िे लिया। वषष के अोंत में उनके िाभ का अनुपात है

(A)22:30:24 (B)24:30:25 (C)16:18:23 (D)20:15:18 (E) None of these



\Q.3:- P, Q and R invested in the ratio of 9:7:8. After 7 months, P invested the same 

amount as before but Q and R withdraw 3/7th and 3/8th of the initial investment 

respectively. Find the share of R, if the total profit at the end of the year is Rs. 

1,11,100? P, Q और R ने 9 : 7 : 8 के अनुपात में लनवेश लकया। 7 महीन ों के बाि, P ने पहिे

की तरह ही रालश का लनवेश लकया िेलकन Q और R ने क्रमशः प्रारों लभक लनवेश के 3/7 और

3/8 भाग क वापस िे लिया। R का लहस्सा बताये , यलि वषष के अोंत में कुि िाभ 1,11,100 रु

है ।
(A)29700 (B)27700 (C)27900 (D)22700 (E) None of these



\Q.4:- Y and Z started a business in partnership by investing Rs 40000 and Rs 50000 

respectively Condition of partnership is that Y got Rs 1500 per month for 

management of the business. Remaining profit has to be distributed in the ratio of 

their investments. Find the profit share of Z, if the annual profit is Rs 45000 ? 
Y और Z ने क्रमशः 40000 और 50000 रुपये का लनवेश करके साझेिारी में एक व्यवसाय शुरू लकया।

साझेिारी की शतष यह है लक Y क व्यवसाय के प्रबोंधन के लिए प्रलत माह 1500 रुपये लमिते हैं। शेष िाभ क 

उनके लनवेश के अनुपात में लवतररत लकया जाना है। Z का िाभ लहस्सा ज्ञात करें , यलि वालषषक िाभ 45000 रु है

?

(A)15000 (B)30000 (C)27000 (D)18000 (E) None of these



\Q.5:- M and N are partners in a firm out of which M is sleeping partner and N is 

working partner. M invests Rs 90000 and N invests Rs 45000. N receives 14.5% of 

profit for managing the business and the rest is shared between both in ratio of their 

investments. M's share in the profit of Rs 12000 is: M और N एक फमष में भागीिार हैं लजसमें

से M लनष्क्रिय भागीिार है और N सलक्रय साझेिार है। M 90000 रुपये का लनवेश करता है और N 45,000 

रुपये का लनवेश करता है। व्यवसाय के प्रबोंधन के लिए N क 14.5% िाभ प्राप्त ह ता है और शेष क उनके

लनवेश के अनुपात में ि न ों के बीच साझा लकया जाता है। 12000 रुपये के िाभ में M की लहसे्सिारी है:

(A) 3420 (B) 6840 (C)10260 (D)4200 (E) None of these



\
Q.6:- A, B and C started a business together. The respective ratio of investment of A 

and B was 3: 5 and the respective ratio of investments of B and C was 10: 13. If at 

the end of the year C received Rs 17628 and his share of annual profit, what was the 

total annual profit earned by all of them together? 
A, B और C ने लमिकर एक व्यवसाय शुरू लकया। A और B के लनवेश का सोंबोंलधत अनुपात 3: 5 था और B 

और C के लनवेश का सोंबोंलधत अनुपात 10: 13. था। यलि वषष के अोंत में C क वालषषक िाभ से 17628 रुपये लमिा

त उन सभी द्वारा एक साथ अलजषत वालषषक िाभ लकतना था?

(A)39324 (B)38268 (C)39672 (D)36564 (E)38952



\
Q.7:- A and B started a business investing the money in ratio 4: 6, after 6 months B 

withdraw his investment and C joins him with twice the amount of B. At the end of 

the year total profit is 3315. Find share of C. 

A और B लमिकर एक व्यापार प्रारोंभ करते हैं लजसमें इनके लनवेश का अनुपात 4: 6 हैं | 6 

माह के बाि B अपना लनवेश लनकाि िेता है और C व्यापार में B से िुगना लनवेश करके

जुड़ता हैं | वषष के अोंत में इन्हें कुि िाभ 3315 रु. का है त C का भाग ज्ञात कीलजये ।

(A)1530 (B)1535 (C)1695 (D) 1655 (E)1595



\Q.8:-Started a business with an investment of P, Q and M in the ratio of 1: 2: 4. 

After 6 months, P invested half the amount before, Q invested the same amount as 

before while M took a quarter of his investment. Find the ratio of their profit at the 

end of the year P, Q और M के 1: 2: 4 के अनुपात में लनवेश के साथ एक व्यवसाय शुरू

लकया| 6 माह के बाि, P ने पहिे से आधी अलधक राशी लनवेश की, Q ने लजतनी रकम पहिे

लनवेश की उतनी ही अलधक लनवेश की जबलक M के अपने लनवेश का एक चौथाई लनकाि

लिया| वषष के अोंत में उनके िाभ का अनुपात ज्ञात कीलजये|

(A) 14:5:12 (B) 12:5:14 (C)5:12:14 (D)5:14:12 (E) None of these



\
Q.9:- Ramesh started a business with 5200 and after 4 month Rakesh joined him 

with Rs. 3900. At the end of the year out of the total profit Rakesh received total Rs 

2000 which is 25% of the profit as commission for managing the business. What 

amount did they earn as profit? रमेश ने 5200 के साथ एक कार बार शुरू लकया और 4 

महीने के बाि राकेश उनके साथ रु। 3900. कुि िाभ से वषष के अोंत में राकेश क कुि 2000 

रुपये लमिे, लजसमें व्यापार के प्रबोंधन के लिए कुि िाभ का 25% कमीशन भी शालमि था।

वे लकतना रुपये का िाभ अलजषत करते है ?

(A)20000 (B)4000 (C)2000 (D)12000 (E)None of these



\Q.10:- A, B and C start a business and invest their share in the ratio of 3:7:6 after a 

certain time they distribute their profit after deducting their TDS which is 20% of 

the individual profit respectively. If the difference between share of A and B is Rs. 

270000, Find the total profit? A,B और C ने एक व्यापर क्रमशः 3 : 7 : 6 के अनुपात में

लनवेश के साथ व्यापार आरोंभ लकया। एक लनलित अवलध के पियात टीडीएस (ज व्यष्क्रिगत

िाभ का 20% है ) काटकर िाभ क बााँटा जाता है। यलि A और B के लहसे्स के बीच अन्तर

270000 रू. है त कुि िाभ ज्ञात कीलजये।

(A)1080000 (B)1400000 (C)135000 (D)1450000 (E)1350000



\Q.11:- A and B started a business. B's investment was Rs.4000 more than that of A. 

At the end of 3 months from the start of the business, B left and C joined with an 

investment which was Rs.6000 more than that of A. If the respective ratio between 

total annual profit and A's share in profit was 11: 5, what was the investment made 

by A?         A और B ने एक व्यवसाय शुरू लकया। B का लनवेश A की अपेक्षा 4000 रुपये अलधक था।

कार बार की शुरुआत से 3 महीने के अोंत में, B चिा जाता है और C एक लनवेश के साथ शालमि हुआ ज A के

मुकाबिे 6000 रुपये अलधक था। यलि कुि वालषषक िाभ और िाभ में A के लहसे्स के बीच सोंबोंलधत अनुपात 11: 

5 था, A द्वारा लकया गया लनवेश क्या था?

(A)24000 (B)16000 (C)12000 (D)18000 (E)27500



\
Q.12:- A and B started a business in partnership by investing Rs 10000 and Rs 8000 

respectively. Condition of partnership is that B got Rs 150  per month for 

management of the business. Remaining profit has to be distributed in the ratio of 

their investments . Find the profit share of B , if the annual profit is Rs 7200. A और B 

ने क्रमशः 10000 और 8000 रुपये का लनवेश करके साझेिारी में एक व्यवसाय शुरू लकया। साझेिारी की शतष

यह है लक व्यवसाय के प्रबोंधन के लिए B क 150 रुपये प्रलत माह लमिते हैं। शेष िाभ क उनके लनवेश के

अनुपात में लवतररत लकया जाना है। B का िाभ लहस्सा ज्ञात करें , यलि वालषषक िाभ 7200 रु है !

(A)4200 (B)3000 (C)3200 (D) 4000 (E) None of these



\Q.13:- Anil and Ruhi started a business by investing Rs.2000 and 

Rs.2800 respectively. After 8 months, Anil added Rs.600 and Ruhi 

added Rs.400. At the same time Teena joined them with Rs.4200. Find 

the share of Teena if they get a profit of Rs.34, 300 after a year.
अलनि और रुही ने क्रमशः 2000 रुपये और 2800 रुपये का लनवेश करके एक व्यवसाय शुरू लकया। 8 महीने

के बाि, अलनि ने 600 रुपये ज ड़े और रुही ने 400 रुपये ज ड़े। उसी समय टीना उनके साथ 4200 रुपये के

साथ शालमि ह गयी । टीना के लहसे्स क ज्ञात कीलजये यलि उन्हें सािाना 34,300 रुपये का िाभ लमिता है।

(A)7350 (B) 7530 (C)7550 (D)7500 (E) None of these



\Q.14:- Satish, Bhavya and Abhishek entered into a partnership with Rs 16000, Rs 

20000 and Rs 24000 respectively. Abhishek joined them after  x  months and Bhavya 

left  x month before the end of year. If they share profit at the end of the year. If 

they share profit in the ratio 48 : 35 : 30 . Find the value of  x ?
सतीश, भाव्या और अलभषेक ने क्रमशः 16000 रुपये, 20000 रुपये और 24000 रुपये की साझेिारी की।

अलभषेक x महीने के बाि उनके साथ जुड़ गए और भाव्या ने साि खत्म ह ने से x महीने पहिे छ ड़ लिया। यलि

वे वषष के अोंत में िाभ साझा करते हैं और वे 48: 35: 30 के अनुपात में िाभ साझा करते हैं । x का मान ज्ञात

करें ?
(A) 6 (B)7 (C)5 (D)4 (E) None of these



\
Q.15:- A and B rented a room dividing the rent in the ratio of 4 : 5. C joined them 

after six months giving the rent equal to that of A. What will be the part of rent of C 

in the total rent of Rs 2200 at the end of 1 year?

A और B ने लकराए क 4 : 5 के अनुपात में लवभालजत करते हुए एक कमरा लकराए पर

लिया। C उनके साथ छह महीने के बाि A के बराबर लकराए िेकर सष्क्रिलित ह ता है। 1 

साि के अोंत में 2200 रुपये के कुि लकराए में C के लकराए का लहस्सा क्या ह गा?

(A)400 (B)800 (C) 450 (D)600 (E)None of these
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